Apartment in Salina



Reference No: 240061191-43

Salina, Central



€425,000

Total Rooms: 6

Bathrooms: 2

Floor Area (m²): 190

Bedrooms: 3

Apartment - For Sale - Salina

SALINI – APARTMENT – This property is located on the fourth floor served with lift from ground floor, with breath taking seafront views. It consists of a spacious terrace ideal for entertainment, a huge open plan (kitchen/ living/ dining), main bathroom, utility room, 3 bedrooms (main + en-suite) and a rear balcony with nature views. This property is being offered finished and freehold, contact your preferred agent for immediate viewing or more info!

Features

- ✓ Lift
- En Suite
- ✓ Water Utility
- Gypsum Plastering
- ✓ Skirting
- Terrace

- ✓ Kitchen/Dinette
- Marble Floor
- Electricity Utility
- ✓ A/C
- Double Glazed
- Balcony

Rooms

Kitchen/Living/Dining: 9.45 x 8.25 m (77.96 m2)

Double Bedroom: 3.84 x 3.38 m (12.98 m2)

✓ Double Bedroom : 5.61 x 4 m (22.44 m2)

Double Bedroom: 4.21 x 4.92 m (20.71 m2)

Bathroom: 2.64 x 1.79 m (4.73 m2)

Shower Ensuite : 1.82 x 2.76 m (5.02 m2)

Open Space : 1.2 x 9.8 m (11.76 m2)

Open Space : 3.2 x 10.7 m (34.24 m2)

Gallery













Jayden Lautier RE/MAX Superior - Fgura

M: 77775176

E: jayden@remax.com.mt

T: 23910000

RE/MAX Superior - Fgura 368,Zabbar Road, Fgura, Malta